
5
0

0
9

1
3

 - H
K

 5
5

 E
Q

-P
lu

s

1 of 3
11/30/2020, 12:32 P

M



Pos Part No. Description Quantity Price each
Excl VAT

Price
incl
VAT

Currency

1 459186 Flat head screw M8 x 18 1 $0.95 USD

2 10014832 Counter flange 1 $3.61 USD

4 10014834 Clamping flange 1 $11.34 USD

5 228736 Flat head screw M4 x 10 3 $0.91 USD

6 10019254 guide plate 1 $2.86 USD

9 445566 Raised-head screw M4 x 14 1 $0.91 USD

10 10007407 Lock bolt 1 $2.52 USD

11 10014877 Pressure spring 1 $0.91 USD

12 10012927 Screw 6 $0.91 USD

13 10018751 Clamping screw 1 $42.49 USD

15 476787 Raised-head screw 2 $0.91 USD

19 203125 Support 1 $76.67 USD

20 10002634 Bolt 1 $1.36 USD

21 10008229 Swiveling segment 1 $6.30 USD

22 10014865 Cheese head screw 4 $0.91 USD

23 10000916 Strip 2 $1.43 USD

24 10008230 Swiveling segment 1 $2.71 USD

25 200173 Glide pads 1 $14.38 USD

26 200174 Adjusting Knob 2 $16.21 USD

29 10018745 Guide plate 1 $93.25 USD

30 10023120 Cover 1 $17.90 USD

31 202096 Angle piece CLEANTEC 1 $14.91 USD

32 10012383 Snap ring 1 $0.95 USD

33 10008221 Bush 1 $1.26 USD

34 10018744 Pendulum guard 1 $44.09 USD

35 10017179 Draw spring 1 $3.29 USD

36 10007875 Flexible lead 1 $5.99 USD

37 10019153 Flat head screw 2 $0.89 USD

42 400014 Flat head screw 4,0 x 10 mm 3 $0.91 USD

43 10018752 Operating lever 1 $39.76 USD

44 464334 Pressure spring 1 $0.95 USD

48 401134 Ball bearing 1 $6.53 USD

49 401244 Snap ring 1 $0.91 USD

51 495798 Gear shaft 1 $31.59 USD

52 10008387 Buffer ring 1 $1.74 USD

53 459254 Cylinder bearing 1 $1.55 USD

54 10018743 Housing 1 $64.32 USD

55 10018742 Bearing flange 1 $40.97 USD

56 401133 Ball bearing 1 $3.78 USD

58 10018750 Auxiliary handle 1 $18.24 USD

59 439494 Flat head screw 5,0 x 16 mm 2 $0.91 USD

60 440712 Rotary knob M6 2 $1.42 USD

61 10012382 Sheet metal 1 $3.55 USD

62 444754 Pressure spring 2 $0.91 USD

63 402234 Hexagon screw M6 x 18 2 $0.91 USD

64 621566 Lug support 1 $1.36 USD

65 10020219 Sticker 1 $2.71 USD

66 10008313 Guide element 1 $2.25 USD

2 of 3 11/30/2020, 12:32 PM



67 10020191 Pressure spring 1 $2.02 USD

68 10016666 Scale 1 $5.04 USD

69 10007408 Detent lever 1 $0.95 USD

70 10014874 Pressure spring 1 $0.91 USD

71 10007409 guiding profile 1 $2.25 USD

72 10037634 Motor housing 1 $17.05 USD

73 400526 Cheese head screw M5 x 25 3 $0.91 USD

74 462523 Speed indicator 1 $5.78 USD

75 492014 Brush (Pair) 100-120V 1 $14.21 USD

77 491722 PTC resistor 1 $10.72 USD

78 xxx No longer available 2

79 491727 Set of flexible leads 110V  USA 1 $13.11 USD

80 491718 Cover 1 $11.92 USD

81 400695 Raised-head screw 4,0 x 25 mm 6 $0.91 USD

82 459199 Fan 1 $2.30 USD

83 491746 Armature 110 - 120V 1 $117.29 USD

84 401525 Ball bearing 1 $3.66 USD

85 10008483 Air guide washer 1 $2.78 USD

86 228708 Raised-head screw 4,0 x 60 mm 2 $0.91 USD

87 491745 Field assembly 110 - 120V 1 $59.10 USD

88 459222 Lock bolt 1 $1.27 USD

89 10003505 Torsion spring 1 $0.91 USD

90 10008420 Eccentric bolt 1 $1.49 USD

91 459221 Slide 1 $0.84 USD

92 10005746 Lever 1 $1.68 USD

93 10029935 Leg spring 1

94 10009468 Lever 1 $3.78 USD

95 701242 Solenoid 1 $2.05 USD

96 459220 Silicone washer 1 $0.91 USD

97 10022337 Grip 1 $13.89 USD

98 459226 Soft handle 1 $5.29 USD

99 228567 Raised-head screw 4,0 x 20 mm 1 $0.91 USD

100 10011696 Cheese head screw 1 $0.84 USD

101 491702 Electronic 120V 1 $62.11 USD

102 491725 Socket housing 120V 1 $13.36 USD

103 219031 Raised-head screw 3,5 x 10 mm 2 $0.91 USD

104 463970 Brake switch 1 $16.61 USD

105 459195 Pusher 1 $2.04 USD

106 10021810 Flange gasket 1 $1.93 USD

107 10018073 Wedge 1

108 400693 Flat head screw M5 x 8 1

3 of 3 11/30/2020, 12:32 PM


